

PRODUCT CATALOGUE

2026



PREMIUM
Quality
GUARANTEE
est. 1987

Candil

Shaping quality light, since 1987

For more than 30 years, we've been creating high-quality products and providing specialized solutions to our partners with consistency and reliability. Our mission is to bring your vision to life by offering high-standard products that stand out.

After all, **Candil** means "Quality... that never fades"!



Candil is a modern and dynamically growing Greek company specializing in the bottling of lamp oil and liquid firelighter as well as the production of gravelights and candles for Ho.Re.Ca and household use. With vertically integrated production and a strong export presence across Europe and international markets, Candil combines experience and expertise to deliver high-quality, reliable products.

The company is based in Vasilika, Thessaloniki, operating from two modern industrial buildings on a privately-owned 25,000 sq.m. site, effectively supporting its production and export activities.

Maintaining its family-oriented character, Candil builds long-term partnerships by offering flexibility, customized solutions and private-label options, along with consistent quality and delivery times—key elements that form the foundation of its partners' trust.

The company's core values—**quality, reliability, and creativity**—guide every aspect of its operations. Its operations are certified according to ISO 9001:2015, confirming its commitment to continuous improvement and to providing products that meet the modern market's demands.

Candil

CANDIL Collection

LAMP OILS

Ideal Lighting, Inside & Out!

Whether for use in indoor spaces, where odorless and smokeless burning is essential or for outdoor areas, Candil lamp oils provide ideal lighting and ensure complete reliability for any occasion.

Candil



Lamp Oils

CANDIL Collection

Lamp oil for Outdoor use

Safe, reliable lighting for every moment, everywhere!

Ideal for gardens, camping, cemeteries, as well as for storm lamps and torches, it provides long-lasting illumination with clean and stable combustion.



Candil lamp oil 500ml

CODE **039035**
EAN 5205376039035

Pcs/Crt	Crt/Pal	Pcs/Pal
12	144	1728



Candil lamp oil 1000ml

CODE **011002**
EAN 5205376011000

Pcs/Crt	Crt/Pal	Pcs/Pal
20	42	840

Lamp Oils

CANDIL Collection

Lamp oil for Indoor use

Pure lamp oil that burns clean and bright!

With an odorless and smokeless burn, Candil lamp oil provides clean lighting without smoke, residue or stains. It won't stain marble or blacken glass, keeping the oil lamp and surrounding space clean for a long time.



Candil lamp oil 500ml odorless

CODE **029357**
EAN 5205376029357

Pcs/Crt	Crt/Pal	Pcs/Pal
12	144	1728



Candil lamp oil 1000ml odorless

CODE **024628**
EAN 5205376024628

Pcs/Crt	Crt/Pal	Pcs/Pal
12	70	840

Lamp oil for Indoor use



Candil lamp oil 500ml odorless

CODE **029357**
EAN 5205376029357

Pcs/Crt	Crt/Pal	Pcs/Pal
12	144	1728



Candil lamp oil 1000ml odorless

CODE **024628**
EAN 5205376024628

Pcs/Crt	Crt/Pal	Pcs/Pal
12	70	840



Candil lamp oil 2000ml odorless

CODE **054069**
EAN 5205376054069

Pcs/Crt	Crt/Pal	Pcs/Pal
6	60	360



Candil lamp oil 3,78lt (1 gal) odorless

CODE **054076**
EAN 5205376054076

Pcs/Crt	Crt/Pal	Pcs/Pal
3	72	216

* Available in non-EU countries.

Lamp Oils in Colors

CANDIL Collection

Lighting that highlights every moment.



Candil lamp oil 500ml

CODE **029432**
 COLOR Red
 EAN 5205376029432



Candil lamp oil 500ml

CODE **029470**
 COLOR Yellow
 EAN 5205376029470



Candil lamp oil 500ml

CODE **029395**
 COLOR Green
 EAN 5205376029395



Candil lamp oil 500ml

CODE **029371**
 COLOR Blue
 EAN 5205376029371



Candil lamp oil 500ml

CODE **029456**
 COLOR Turquoise
 EAN 5205376029456



Candil lamp oil 500ml

CODE **029418**
 COLOR Purple
 EAN 5205376029418



Candil lamp oil 1000ml

CODE **035877**
 COLOR Red
 EAN 5205376035877



Candil lamp oil 1000ml

CODE **035891**
 COLOR Yellow
 EAN 5205376035891



Candil lamp oil 1000ml

CODE **035853**
 COLOR Green
 EAN 5205376035853



Candil lamp oil 1000ml

CODE **035938**
 COLOR Blue
 EAN 5205376035938



Candil lamp oil 1000ml

CODE **035884**
 COLOR Turquoise
 EAN 5205376035884



Candil lamp oil 1000ml

CODE **035860**
 COLOR Purple
 EAN 5205376035860

* Available in non-EU countries.

Pcs/Crt	Crt/Pal	Pcs/Pal
12	98	1176

* Available in non-EU countries.

Pcs/Crt	Crt/Pal	Pcs/Pal
12	70	840

Angel | Lux Collection

GRAVELIGHTS & LAMP OIL

A light that lasts –
A tribute that matters

Candil's "memorial candles" or "gravelights" are made from high-quality paraffin, ensuring a clean, steady flame that honors the memory of your loved ones. They are ideal for dedication spaces such as cemeteries and memorials, and are available in two distinct collections, covering a wide range of needs and providing the right solution for every occasion.

Candil



Gravelights

Angel Collection

When light means more

Premium lamp oil and long-lasting cemetery candles, delivering a clean, steady flame. Pure, just like the religious act they honor, with no smoke or residue.



Angel grave candle 20T

CODE	053628	CODE	053840
WEIGHT	100gr	WEIGHT	100gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 8cm	SIZE	Ø6,5 x 8cm
EAN	5205376000141	EAN	5205376000165

Pcs/Crt	Crt/Pal	Pcs/Pal
📦 60	🏠 66	🕯️ 3960



Angel grave candle 20T with metal lid

CODE	053666	CODE	053888
WEIGHT	100gr	WEIGHT	100gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 9,7cm	SIZE	Ø6,5 x 9,7cm
EAN	5205376000202	EAN	5205376000226

Pcs/Crt	Crt/Pal	Pcs/Pal
📦 60	🏠 54	🕯️ 3240



Angel grave candle 30T

CODE	000241	CODE	045784
WEIGHT	145gr	WEIGHT	145gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 10,5cm	SIZE	Ø6,5 x 10,5cm
EAN	5205376000240	EAN	5205376045784

Pcs/Crt	Crt/Pal	Pcs/Pal
📦 60	🏠 48	🕯️ 2880



Angel grave candle 30T with metal lid

CODE	053680	CODE	053901
WEIGHT	145gr	WEIGHT	145gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 12,2cm	SIZE	Ø6,5 x 12,2cm
EAN	5205376000349	EAN	5205376000363

Pcs/Crt	Crt/Pal	Pcs/Pal
📦 60	🏠 90	🕯️ 2700



Angel grave candle 40T

CODE	000388	CODE	000401
WEIGHT	230gr	WEIGHT	230gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 14,5cm	SIZE	Ø6,5 x 14,5cm
EAN	5205376000387	EAN	5205376000400

Pcs/Crt	Crt/Pal	Pcs/Pal
📦 30	🏠 66	🕯️ 1980



Angel grave candle 40T with metal lid

CODE	053703	CODE	053925
WEIGHT	230gr	WEIGHT	230gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 16,20cm	SIZE	Ø6,5 x 16,20cm
EAN	5205376000486	EAN	5205376000509

Pcs/Crt	Crt/Pal	Pcs/Pal
📦 30	🏠 60	🕯️ 1800



Gravelights

Angel Collection



Angel grave candle 50T

CODE	000524	CODE	000548
WEIGHT	320gr	WEIGHT	320gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 18,5cm	SIZE	Ø6,5 x 18,5cm
EAN	5205376000523	EAN	5205376000547

Pcs/Crt	Crt/Pal	Pcs/Pal
☐ 30	📦 54	🕯️ 1620



Angel grave candle 50T with metal lid

CODE	053734	CODE	053949
WEIGHT	320gr	WEIGHT	320gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 20,2cm	SIZE	Ø6,5 x 20,2cm
EAN	5205376000585	EAN	5205376000608

Pcs/Crt	Crt/Pal	Pcs/Pal
☐ 30	📦 48	🕯️ 1440



Angel grave candle 60/8

CODE	000685	CODE	000708
WEIGHT	470gr	WEIGHT	470gr
COLOR	Red	COLOR	White
SIZE	Ø7,3 x 19cm	SIZE	Ø7,3 x 19cm
EAN	5205376000684	EAN	5205376000707

Pcs/Crt	Crt/Pal	Pcs/Pal
☐ 25	📦 48	🕯️ 1200



Angel grave candle 60/8 with metal lid

CODE	053772	CODE	053994
WEIGHT	470gr	WEIGHT	470gr
COLOR	Red	COLOR	White
SIZE	Ø7,3 x 21,1cm	SIZE	Ø7,3 x 21,1cm
EAN	5205376000769	EAN	5205376000783

Pcs/Crt	Crt/Pal	Pcs/Pal
☐ 25	📦 42	🕯️ 1050



Angel grave candle 60T

CODE	028213	CODE	028237
WEIGHT	370gr	WEIGHT	370gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 21cm	SIZE	Ø6,5 x 21cm
EAN	5205376028213	EAN	5205376028237

Pcs/Crt	Crt/Pal	Pcs/Pal
☐ 30	📦 48	🕯️ 1440



Angel grave candle 60T with metal lid

CODE	053758	CODE	053970
WEIGHT	370gr	WEIGHT	370gr
COLOR	Red	COLOR	White
SIZE	Ø6,5 x 22,7cm	SIZE	Ø6,5 x 22,7cm
EAN	5205376028527	EAN	5205376028534

Pcs/Crt	Crt/Pal	Pcs/Pal
☐ 30	📦 42	🕯️ 1260



Angel grave candle 60LT

CODE	053642	CODE	053864
WEIGHT	500gr	WEIGHT	500gr
COLOR	Red	COLOR	White
SIZE	Ø7,1 x 22cm	SIZE	Ø7,1 x 22cm
EAN	5205376000806	EAN	5205376000820

Pcs/Crt	Crt/Pal	Pcs/Pal
☐ 25	📦 48	🕯️ 1200



Angel grave candle 70L with metal lid

CODE	053796	CODE	054014
WEIGHT	500gr	WEIGHT	500gr
COLOR	Red	COLOR	White
SIZE	Ø7,1 x 24,3cm	SIZE	Ø7,1 x 24,3cm
EAN	5205376046804	EAN	5205376027445

Pcs/Crt	Crt/Pal	Pcs/Pal
☐ 30	📦 48	🕯️ 1440

Gravelights

Angel Collection



Angel grave candle 80/16

CODE	000906	CODE	000930
WEIGHT	450gr	WEIGHT	450gr
COLOR	Red	COLOR	White
SIZE	Ø8,5 x 16cm	SIZE	Ø8,5 x 16cm
EAN	5205376000905	EAN	5205376000929

Pcs/Crt	Crt/Pal	Pcs/Pal
20	66	1320



Angel grave candle 80/16 with metal lid

CODE	046033	CODE	046026
WEIGHT	450gr	WEIGHT	450gr
COLOR	Red	COLOR	White
SIZE	Ø8,5 x 18,4cm	SIZE	Ø8,5 x 18,4cm
EAN	5205376046033	EAN	5205376046026

Pcs/Crt	Crt/Pal	Pcs/Pal
20	54	1080



Angel grave candle 80/21

CODE	000944	CODE	000968
WEIGHT	600gr	WEIGHT	600gr
COLOR	Red	COLOR	White
SIZE	Ø8,5 x 21cm	SIZE	Ø8,5 x 21cm
EAN	5205376000943	EAN	5205376000967

Pcs/Crt	Crt/Pal	Pcs/Pal
20	48	960



Angel grave candle 80/21 with metal lid

CODE	053826	CODE	054045
WEIGHT	600gr	WEIGHT	600gr
COLOR	Red	COLOR	White
SIZE	Ø8,5 x 23,4cm	SIZE	Ø8,5 x 23,4cm
EAN	5205376027490	EAN	5205376027513

Pcs/Crt	Crt/Pal	Pcs/Pal
20	42	840



Angel grave candle 80/19

CODE	046811	CODE	046835
WEIGHT	500gr	WEIGHT	500gr
COLOR	Red	COLOR	White
SIZE	Ø8,5 x 19cm	SIZE	Ø8,5 x 19cm
EAN	5205376046811	EAN	5205376046835

Pcs/Crt	Crt/Pal	Pcs/Pal
20	48	960



Angel grave candle 80/19 with metal lid

CODE	046828	CODE	046842
WEIGHT	500gr	WEIGHT	500gr
COLOR	Red	COLOR	White
SIZE	Ø8,5 x 21,4cm	SIZE	Ø8,5 x 21,4cm
EAN	5205376046828	EAN	5205376046842

Pcs/Crt	Crt/Pal	Pcs/Pal
20	48	960



Angel grave candle 80/24

CODE	001026	CODE	001050
WEIGHT	700gr	WEIGHT	700gr
COLOR	Red	COLOR	White
SIZE	Ø8,5 x 22,2cm	SIZE	Ø8,5 x 22,2cm
EAN	5205376001025	EAN	5205376001049

Pcs/Crt	Crt/Pal	Pcs/Pal
20	48	960



Angel grave candle 80/24 with metal lid

CODE	046170	CODE	046057
WEIGHT	700gr	WEIGHT	700gr
COLOR	Red	COLOR	White
SIZE	Ø8,5 x 24,6cm	SIZE	Ø8,5 x 24,6cm
EAN	5205376046170	EAN	5205376046057

Pcs/Crt	Crt/Pal	Pcs/Pal
20	42	840

Votive Candles

Angel Collection



Angel votive candles 5B (4pcs)

CODE **000066**
 WEIGHT 30gr x 4pcs
 COLOR Red
 SIZE 20 x 5 x 3,5cm
 EAN 5205376000066



Angel votive candles 5B (4pcs)

CODE **000081**
 WEIGHT 30gr x 4pcs
 COLOR White
 SIZE 20 x 5 x 3,5cm
 EAN 5205376000080

Pcs/Crt	Crt/Pal	Pcs/Pal
84	48	4032



Angel votive candles 10B (4pcs)

CODE **000103**
 WEIGHT 52gr x 4pcs
 COLOR Red
 SIZE 20,5 x 5 x 6cm
 EAN 5205376000103



Angel votive candles 10B (4pcs)

CODE **000127**
 WEIGHT 52gr x 4pcs
 COLOR White
 SIZE 20,5 x 5 x 6cm
 EAN 5205376000127

Pcs/Crt	Crt/Pal	Pcs/Pal
24	96	2304

Lamp Oil

Angel Collection

Lamp oil for Indoor use

Truly odorless and smokeless lamp oil, trusted and proven in practice.



Angel lamp oil 500ml odorless

CODE **046217**
 EAN 5205376046217

Pcs/Crt	Crt/Pal	Pcs/Pal
12	144	1728



Angel lamp oil 1000ml odorless

CODE **011117**
 EAN 5205376011117

Pcs/Crt	Crt/Pal	Pcs/Pal
12	70	840

Pure lamp oil that burns
clean and bright!

Votive Candles | Church

Angel Collection

Easter Lantern, ideal for the Epitaph procession and the Resurrection service.



Angel small lantern

CODE **051341**
 WEIGHT 80gr
 COLOR Red
 SIZE 8,5x8,5x9cm
 EAN 5205376051341



Angel small lantern

CODE **051488**
 WEIGHT 80gr
 COLOR Purple
 SIZE 8,5x8,5x9cm
 EAN 5205376051341



Angel small lantern

CODE **051495**
 WEIGHT 80gr
 COLOR Yellow
 SIZE 8,5x8,5x9cm
 EAN 5205376051341

 Pcs/Crt	 Crt/Pal	 Pcs/Pal
32	60	1920



Paraffin candles

CODE **008031**
 WEIGHT 1Kg
 COLOR Yellow
 SIZE 26,5x8x8cm
 EAN 5205376008031



Beeswax type candles

CODE **008130**
 WEIGHT 1Kg
 COLOR Yellow
 SIZE 26,5x8x8cm
 EAN 5205376008130



Paraffin candles

CODE **008048**
 WEIGHT 1Kg
 COLOR White
 SIZE 26,5x8x8cm
 EAN 5205376008048

 Pcs/Crt	 Crt/Pal	 Pcs/Pal
12	60	720

*Also available in packs of 40 and 20 pieces.



Gravelights

LUX Collection

For everyone, every day, on every occasion.

A lighter collection of gravelights and outdoor lamp oil, designed to meet daily needs without compromising on quality.



Lux grave candle T20S

CODE **028398**
 WEIGHT 75gr
 COLOR Red
 SIZE Ø7 x 9cm
 EAN 5205376028398

Pcs/Crt	Crt/Pal	Pcs/Pal
60	66	3960



Lux grave candle T30S

CODE **028336**
 WEIGHT 100gr
 COLOR Red
 SIZE Ø6,5 x 10,5cm
 EAN 5205376028336

Pcs/Crt	Crt/Pal	Pcs/Pal
60	48	2880



Lux grave candle T40S

CODE **028343**
 WEIGHT 150gr
 COLOR Red
 SIZE Ø6,5 x 13cm
 EAN 5205376028343

Pcs/Crt	Crt/Pal	Pcs/Pal
30	72	2160



Lux grave candle T100S

CODE **028381**
 WEIGHT 460gr
 COLOR Red
 SIZE Ø8 x 22,4cm
 EAN 5205376028381

Pcs/Crt	Crt/Pal	Pcs/Pal
20	48	960



Lux grave candle T50S

CODE **028350**
 WEIGHT 195gr
 COLOR Red
 SIZE Ø6,5 x 16cm
 EAN 5205376028350

Pcs/Crt	Crt/Pal	Pcs/Pal
30	60	1800



Lux grave candle T60S

CODE **028367**
 WEIGHT 250gr
 COLOR Red
 SIZE Ø6,5 x 18,7cm
 EAN 5205376028367

Pcs/Crt	Crt/Pal	Pcs/Pal
30	54	1620



Lux grave candle T80S

CODE **028374**
 WEIGHT 380gr
 COLOR Red
 SIZE Ø7 x 19cm
 EAN 5205376028374

Pcs/Crt	Crt/Pal	Pcs/Pal
25	48	1200



Lux Cross shape electric candle

CODE **046354**
 COLOR Red
 DURATION up to 150 days
 SIZE 7,3 x 5,4 x 12cm
 EAN 5205376046354

Pcs/Crt	Crt/Pal	Pcs/Pal
36	77	2772



Lux Cross shape electric candle

CODE **045579**
 COLOR Red
 DURATION up to 150 days
 SIZE 11 x 5,8 x 19,2cm
 EAN 5205376045579

Pcs/Crt	Crt/Pal	Pcs/Pal
15	60	900



Lux lamp oil 950ml

CODE **027728**
 EAN 5205376027728

Pcs/Crt	Crt/Pal	Pcs/Pal
20	42	840



CANDIL Collection

ELECTRIC CANDLES

Durable, weather-resistant, and easy to use.
It's the perfect solution for keeping a flame
continuously burning in the cemetery.



Candil

Electric Candles

CANDIL Collection



Cross shape electric candle (size small)

CODE **019099**
 COLOR Red
 SIZE 7,3 x 5,4 x 12cm
 DURATION 150+ days
 EAN 5205376019099



Cross shape electric candle (size big)

CODE **019006**
 COLOR Red
 SIZE 11 x 5,8 x 19,2cm
 DURATION 150+ days
 EAN 5205376019006



Cross shape electric candle (size small)

CODE **019104**
 COLOR White
 SIZE 7,3 x 5,4 x 12cm
 DURATION 150+ days
 EAN 5205376019099



Cross shape electric candle (size big)

CODE **019017**
 COLOR White
 SIZE 11 x 5,8 x 19,2cm
 DURATION 150+ days
 EAN 5205376019006



Cross shape electric candle (size small)

CODE **019101**
 COLOR Yellow
 SIZE 7,3 x 5,4 x 12cm
 DURATION 150+ days
 EAN 5205376019099



Cross shape electric candle (size big)

CODE **019008**
 COLOR Yellow
 SIZE 11 x 5,8 x 19,2cm
 DURATION 150+ days
 EAN 5205376019006



Cross shape electric candle (size small)

CODE **019105**
 COLOR Blue
 SIZE 7,3 x 5,4 x 12cm
 DURATION 150+ days
 EAN 5205376019099



Cross shape electric candle (size big)

CODE **019013**
 COLOR Blue
 SIZE 11 x 5,8 x 19,2cm
 DURATION 150+ days
 EAN 5205376019006



Cross shape electric candle (size small)

CODE **019100**
 COLOR Transparent
 SIZE 7,3 x 5,4 x 12cm
 DURATION 150+ days
 EAN 5205376019099



Cross shape electric candle (size big)

CODE **019007**
 COLOR Transparent
 SIZE 11 x 5,8 x 19,2cm
 DURATION 150+ days
 EAN 5205376019006

Pcs/Crt	Crt/Pal	Pcs/Pal
36	77	2772

Pcs/Crt	Crt/Pal	Pcs/Pal
15	60	900

Packaging for small electric cross. _____ Packaging for big electric cross. _____
 Disposable product. Includes 2 AA alkaline batteries. _____



Electric Candles

CANDIL Collection



Cone shape electric candle (incl. batteries)

CODE **042073**
 COLOR Red
 SIZE Ø6,7 x 12,4cm
 EAN 5205376042073



Cone shape electric candle (incl. batteries)

CODE **042080**
 COLOR White
 SIZE Ø6,7 x 12,4cm
 EAN 5205376042080



Cone shape electric candle (incl. batteries)

CODE **042097**
 COLOR Gold
 SIZE Ø6,7 x 12,4cm
 EAN 5205376042097



Cone shape electric candle (incl. batteries)

CODE **047153**
 COLOR Silver
 SIZE Ø6,7 x 12,4cm
 EAN 5205376047153



Flameless led candle

CODE **008628**
 COLOR Red
 SIZE 5,5 x 7,5 x 10,5cm
 EAN 5205376008628



Flameless led candle

CODE **008635**
 COLOR White
 SIZE 5,5 x 7,5 x 10,5cm
 EAN 5205376008635



Flameless led candle

CODE **008642**
 COLOR Gold
 SIZE 5,5 x 7,5 x 10,5cm
 EAN 5205376008642



Flameless led candle

CODE **022853**
 COLOR Silver
 SIZE 5,5 x 7,5 x 10,5cm
 EAN 5205376022853

Pcs/Crt	Crt/Pal	Pcs/Pal
20	20	400

Includes 2 AA alkaline batteries

Pcs/Crt	Crt/Pal	Pcs/Pal
20	32	640



Flameless led votive candle (incl. batteries)

CODE **027759**
 COLOR Red
 SIZE Ø4,2 x 10cm
 EAN 5205376027759



Flameless led votive candle (incl. batteries)

CODE **027766**
 COLOR White
 SIZE Ø4,2 x 10cm
 EAN 5205376027766



Flameless led votive candle (incl. batteries)

CODE **027742**
 COLOR Gold
 SIZE Ø4,2 x 10cm
 EAN 5205376027742



Flameless led votive candle (incl. batteries)

CODE **056681**
 COLOR Silver
 SIZE Ø4,2 x 10cm
 EAN 5205376056681

Pcs/Crt
12

Includes 2 AA alkaline batteries



KIVOTOS Collection

CHURCH CONSUMABLES

Committed to our tradition for over 25 years. For personal use or the Divine Liturgy, honor every religious act with the right items – from incense and charcoal tablets to accessories for your vigil oil lamp.



Candil

Charcoal tablets

KIVOTOS Collection

High-quality incense charcoal!

Lights easily and burns evenly, releasing the full fragrance of incense.



Quick lighting charcoal 27mm

CODE **027155**
ROLLS 20 x 6
EAN 5205376027155

Pcs/Crt	Crt/Pal	Pcs/Pal
30	36	1080

Quick lighting charcoal 33mm

CODE **027193**
ROLLS 20 x 6
EAN 5205376027193

Pcs/Crt	Crt/Pal	Pcs/Pal
20	25	500

Quick lighting charcoal 27mm

CODE **027643**
ROLLS 2 x 6
EAN 5205376027643

Pcs/Crt	Crt/Pal	Pcs/Pal
24	252	6048

Incense

KIVOTOS Collection

Scent of devotion.

Made from pure ingredients for a rich, aromatic burn.



Incense Jasmine

CODE **044398**
WEIGHT 25gr
COLOR White
EAN 5205376044398

Incense Gardenia

CODE **051235**
WEIGHT 25gr
COLOR White
EAN 5205376051235

Incense Desert Flower

CODE **020311**
WEIGHT 25gr
COLOR White
EAN 5205376020309



Incense Rose

CODE **020310**
WEIGHT 25gr
COLOR Pink
EAN 5205376020309

Incense Lilium

CODE **040703**
WEIGHT 25gr
COLOR White
EAN 5205376040703

Frankincense teardrop

CODE **028510**
WEIGHT 25gr
COLOR Natural
EAN 5205376028510

Pcs/Crt	Crt/Pal	Pcs/Pal
96	126	12096



Wicks

KIVOTOS Collection

Consistent flame and serene light.

Specially designed for vigil oil lamps.



Pink paraffin wicks

CODE **005757**
 WEIGHT 20gr
 COLOR Pink
 EAN 5205376005757

Wicks made from cotton thread soaked in paraffin.



Yellow paraffin wicks

CODE **005764**
 WEIGHT 20gr
 COLOR Yellow
 EAN 5205376005764

Wicks made from cotton thread soaked in paraffin.



Beeswax wicks

CODE **019280**
 WEIGHT 20gr
 COLOR Honey
 EAN 5205376019280

Wicks made from cotton thread soaked in beeswax.

Pcs/Crt	Crt/Pal	Pcs/Pal
96	126	12096



Handmade paraffin wicks with cork float (50pcs)

CODE **027698**
 COLOR Yellow
 EAN 5205376027698

Handmade wicks made from cotton thread, soaked in special paraffin. Each wick is placed in an individual cork, ready for immediate use.

Pcs/Crt	Crt/Pal	Pcs/Pal
30	288	8640



Cork float (4pcs)

CODE **047641**
 EAN 5205376047641

Round cork float with flexible metal handle for easy use.

Pcs/Crt	Crt/Pal	Pcs/Pal
24	480	11520



Metal Censer & Candles

KIVOTOS Collection



Metal censer with lid size small

CODE **007099**
 COLOR Dark grey
 SIZE 8 x 6,5 x 14cm
 EAN 5205376007096



Metal censer with lid size small

CODE **007096**
 COLOR Silver
 SIZE 8 x 6,5 x 14cm
 EAN 5205376007096



Metal censer with lid size small

CODE **007097**
 COLOR Brown
 SIZE 8 x 6,5 x 14cm
 EAN 5205376007096



Metal censer with lid size small

CODE **007098**
 COLOR Olive
 SIZE 8 x 6,5 x 14cm
 EAN 5205376007096



Metal censer with lid size small

CODE **007100**
 COLOR Gold
 SIZE 8 x 6,5 x 14cm
 EAN 5205376007096



Pcs/Crt
40



Crt/Pal
35



Pcs/Pal
1400

Metal Censer & Candles

KIVOTOS Collection



Metal censer with lid size big

CODE **005826**
 COLOR Dark grey
 SIZE 10 x 7,8 x 17cm
 EAN 5205376005825



Metal censer with lid size big

CODE **005825**
 COLOR Silver
 SIZE 10 x 7,8 x 17cm
 EAN 5205376005825



Metal censer with lid size big

CODE **005827**
 COLOR Brown
 SIZE 10 x 7,8 x 17cm
 EAN 5205376005825



Metal censer open-type

CODE **006762**
 COLOR Dark grey
 SIZE 10 x 8,8 x 7,5cm
 EAN 5205376006761



Metal censer open-type

CODE **006761**
 COLOR Silver
 SIZE 10 x 8,8 x 7,5cm
 EAN 5205376006761



Metal censer open-type

CODE **006763**
 COLOR Brown
 SIZE 10 x 8,8 x 7,5cm
 EAN 5205376006761



Metal censer with lid size big

CODE **005828**
 COLOR Olive
 SIZE 10 x 7,8 x 17cm
 EAN 5205376005825



Metal censer with lid size big

CODE **005830**
 COLOR Gold
 SIZE 10 x 7,8 x 17cm
 EAN 5205376005825



Metal censer open-type

CODE **006764**
 COLOR Olive
 SIZE 10 x 8,8 x 7,5cm
 EAN 5205376006761



Metal censer open-type

CODE **006766**
 COLOR Gold
 SIZE 10 x 8,8 x 7,5cm
 EAN 5205376006761



Pcs/Crt
30



Crt/Pal
35



Pcs/Pal
1050



Pcs/Crt
40



Crt/Pal
35



Pcs/Pal
1400

Metal Censer & Candles

KIVOTOS Collection



Church shape vigil lamp

CODE **007140**
 COLOR Dark grey
 SIZE 11 x 9,8 x 17cm
 EAN 5205376007140



Church shape vigil lamp

CODE **007144**
 COLOR Silver
 SIZE 11 x 9,8 x 17cm
 EAN 5205376007140



Church shape vigil lamp

CODE **007141**
 COLOR Brown
 SIZE 11 x 9,8 x 17cm
 EAN 5205376007140



Church shape vigil lamp

CODE **007142**
 COLOR Olive
 SIZE 11 x 9,8 x 17cm
 EAN 5205376007140



Church shape vigil lamp

CODE **007143**
 COLOR Gold
 SIZE 11 x 9,8 x 17cm
 EAN 5205376007140



Pcs/Crt
20



Crt/Pal
35



Pcs/Pal
700

CANDIL Collection

TEALIGHTS

Create the perfect atmosphere
with tealights!

Whether you're looking for a calm
and relaxing mood or something more
playful and lively, they add a pleasant
touch to your space, creating the
atmosphere you desire.



Candil



Tealights

CANDIL Collection



4h Tealights (50pcs)

CODE **008820**
 BURN TIME ± 4 hours
 EAN 5205376008819

		
Pcs/Crt	Crt/Pal	Pcs/Pal
20	72	1440



8h Tealights (50pcs)

CODE **045210**
 BURN TIME ± 8 hours
 EAN 5205376045210

		
Pcs/Crt	Crt/Pal	Pcs/Pal
12	72	864



10h Maxi Tealights (12pcs)

CODE **008871**
 BURN TIME ± 10 hours
 EAN 5205376008871

		
Pcs/Crt	Crt/Pal	Pcs/Pal
12	108	1296



Scented Tealights

CANDIL Collection



Berries (18pcs)

CODE **049874**
 BURN TIME ± 4 hours
 EAN 5205376049874



Lavender (18pcs)

CODE **049911**
 BURN TIME ± 4 hours
 EAN 5205376049911



Cotton Flowers (18pcs)

CODE **050252**
 BURN TIME ± 4 hours
 EAN 5205376050252



Strawberry (18pcs)

CODE **049942**
 BURN TIME ± 4 hours
 EAN 5205376049942



Baby Powder (18pcs)

CODE **050313**
 BURN TIME ± 4 hours
 EAN 5205376050313



French Macarons (18pcs)

CODE **050283**
 BURN TIME ± 4 hours
 EAN 5205376050283



Jasmine (18pcs)

CODE **049782**
 BURN TIME ± 4 hours
 EAN 5205376049782



Sweet Vanilla (18pcs)

CODE **049812**
 BURN TIME ± 4 hours
 EAN 5205376049812

12 Pcs/Crt

240 Crt/Pal

2880 Pcs/Pal

CANDIL Collection

SCENTED CANDLES

in a jar

Unique fragrances for every moment.

From rich, intense notes to soft, subtle scents, each candle offers a distinctive aroma to create the atmosphere that matches your mood, any time of day.

Candil





510gr
Berries
030803

EAN 5205376030803



PREMIUM
Quality
GUARANTEE
SINCE 1987

100gr		3 Pcs/Crt		800 Crt/Pal		2400 Pcs/Pal
510gr		3 Pcs/Crt		200 Crt/Pal		600 Pcs/Pal

Scented Candles

CANDIL Collection



Sweet Vanilla
CODE **046897**
WEIGHT 100gr
EAN 5205376046897



French Macaron
CODE **046927**
WEIGHT 100gr
EAN 5205376046927



Berries
CODE **046996**
WEIGHT 100gr
EAN 5205376046996



Pure Linen
CODE **046941**
WEIGHT 100gr
EAN 5205376046941



Wellbeing
CODE **047009**
WEIGHT 100gr
EAN 5205376047009



Sweet Vanilla
CODE **028848**
WEIGHT 510gr
EAN 5205376028848



Lavender
CODE **028862**
WEIGHT 510gr
EAN 5205376028862



Frosted Cherry
CODE **028886**
WEIGHT 510gr
EAN 5205376028886



French Macaron
CODE **028909**
WEIGHT 510gr
EAN 5205376028909



Apple Spice
CODE **028923**
WEIGHT 510gr
EAN 5205376028923



Cotton Flowers
CODE **028947**
WEIGHT 510gr
EAN 5205376028947



Rose
CODE **028961**
WEIGHT 510gr
EAN 5205376028961



Orange Cinnamon
CODE **028985**
WEIGHT 510gr
EAN 5205376028985



Jasmine
CODE **029005**
WEIGHT 510gr
EAN 5205376029005



Citrus Fruit
CODE **029098**
WEIGHT 510gr
EAN 5205376029098

CANDIL Collection

GARDEN CANDLES

Citronella

Natural protection with a fresh scent.

Ideal for outdoor spaces and evening moments in the garden or on the balcony, they create a pleasant atmosphere while allowing you to enjoy your outdoor space in complete comfort.



Citronella Candles



Citronella candle in terracotta pot No3

CODE **020057**
 WEIGHT 150gr
 SIZE Ø14,5 x 5,3cm
 EAN 5205376020057

📦 12 | 🏠 72 | 🕯️ 864



Citronella candle in aluminium pot No3

CODE **021511**
 WEIGHT 205gr
 SIZE Ø14 x 2cm
 EAN 5205376021511

📦 16 | 🏠 135 | 🕯️ 2160



Citronella candle jar with lid

CODE **051044**
 WEIGHT 100gr
 SIZE Ø6,9 x 8,5cm
 EAN 5205376051044

📦 3 | 🏠 800 | 🕯️ 2400



Citronella candle in cone shape jar

CODE **051051**
 WEIGHT 205gr
 SIZE Ø9,3 x 9,1cm
 EAN 5205376051051

📦 6 | 🏠 176 | 🕯️ 1056



Citronella candle in terracotta pot No2

CODE **017873**
 WEIGHT 100gr
 SIZE Ø10 x 4,7cm
 EAN 5205376017873

📦 24 | 🏠 72 | 🕯️ 1728



Citronella candle in aluminum foil pot (2pcs refill)

CODE **021412**
 WEIGHT 100gr x 2pcs
 SIZE 17,8 x 8,5 x 4cm
 EAN 5205376021412

📦 18 | 🏠 80 | 🕯️ 1400



Citronella candle in tin holder (2pcs)

CODE **051020**
 WEIGHT 140gr x 2pcs
 SIZE Ø9,8 x 2 x 4,4cm
 EAN 5205376051020

📦 6 | 🏠 288 | 🕯️ 1728



Scented tealights citronella (18pcs)

CODE **050139**
 WEIGHT 180gr
 SIZE 11,4 x 11,4 x 2,8cm
 EAN 5205376050139

📦 12 | 🏠 240 | 🕯️ 2880



Citronella candle jar

CODE **018856**
 WEIGHT 70gr
 SIZE Ø6,4 x 6cm
 EAN 5205376018856

📦 24 | 🏠 165 | 🕯️ 3960

CANDIL Collection

DECORATIVE CANDLES

A well-designed candle adds elegance and sophistication to any space where it is placed. Explore our range and choose the one that matches your style.



Candil

Pillar Candles

CANDIL Collection



6 x10 053154
6 x14 049720
COLOR Light Blue



6 x10 049379
6 x14 049454
COLOR Ivory



6 x10 048464
6 x14 049478
COLOR Red



6 x10 048600
6 x14 049430
COLOR White



6 x10 053079
6 x14 053086
COLOR Lilac



7x7 055462
7x10 053222
7x14 053277
COLOR Light Blue



7x7 030117
7x10 030162
7x14 030155
COLOR Ivory



7x7 030353
7x10 030377
7x14 030414
COLOR Red



7x7 030094
7x10 030018
7x14 030032
COLOR White



7x7 055486
7x10 053093
7x14 053109
COLOR Lilac



7x7 055509
7x10 053215
7x14 053260
COLOR Mint



7x7 055561
7x10 053239
7x14 053284
COLOR Turquoise



6 x10 053147
6 x14 049706
COLOR Mint



6 x10 053123
6 x14 049683
COLOR Pink



6 x10 053017
6 x14 053024
COLOR Salmon



6 x10 053161
6 x14 053390
COLOR Turquoise



6 x10 053130
6 x14 053383
COLOR Fuchsia



7x7 055523
7x10 053192
7x14 053246
COLOR Pink



7x7 055424
7x10 053208
7x14 053253
COLOR Fuchsia



7x7 055547
7x10 053031
7x14 053055
COLOR Salmon



7x7 030544
7x10 030568
7x14 030582
COLOR Gold



7x7 030483
7x10 030506
7x14 030520
COLOR Silver



7x7 030605
7x10 030629
7x14 030643
COLOR Bronze

6x10CM



6x14CM



7x7CM



7x10CM



7x14CM



Sphere Candles

CANDIL Collection

8CM



Sphere candle

CODE **030278**
COLOR White



Sphere candle

CODE **030896**
COLOR Ivory



Sphere candle

CODE **030681**
COLOR Gold brushed



Sphere candle

CODE **030667**
COLOR Silver brushed



Sphere candle

CODE **030704**
COLOR Bronze brushed

10CM



Sphere candle

CODE **030285**
COLOR White



Sphere candle

CODE **054496**
COLOR Ivory



Sphere candle

CODE **054533**
COLOR Gold brushed



Sphere candle

CODE **054540**
COLOR Silver brushed



Sphere candle

CODE **054571**
COLOR Bronze brushed

8CM

 20 Pcs/Crt

 85 Crt/Pal

 1700 Pcs/Pal

10CM

 12 Pcs/Crt

 80 Crt/Pal

 960 Pcs/Pal



CANDIL Collection

DECORATIVE OIL LAMPS

Accessories

This category includes elegant oil lamps with durable replacement parts and timeless design. Ideal for homes, hotels, camping, and special events.



Candil

Decorative Oil Lamps

CANDIL Collection



Oil lamp meander shape

CODE **009632**
 COLOR Transparent
 VOLUME 200ml
 SIZE 8 x 8 x 17,3cm
 EAN 5205376009632



Oil lamp small barrel

CODE **021337**
 COLOR Transparent
 VOLUME 340ml
 SIZE 8,5 x 8,5 x 18cm
 EAN 5205376021337



Oil lamp big barrel

CODE **009748**
 COLOR Transparent
 VOLUME 500ml
 SIZE 10,2 x 10,5 x 19cm
 EAN 5205376009748



Oil lamp flower shape

CODE **009700**
 COLOR Transparent
 VOLUME 500ml
 SIZE 10,8 x 10,8 x 19,7cm
 EAN 5205376009700



Oil lamp flower shape

CODE **045616**
 COLOR Red
 VOLUME 500ml
 SIZE 10,8 x 10,8 x 19,7cm
 EAN 5205376045616



Pcs/Crt
6



Crt/Pal
160



Pcs/Pal
960



Pcs/Crt
6



Crt/Pal
90



Pcs/Pal
540



Oil lamp polygon shape

CODE **009731**
 COLOR Transparent
 VOLUME 530ml
 SIZE 9,1 x 9,5 x 21cm
 EAN 5205376009731



Oil lamp polygon shape

CODE **009762**
 COLOR Transparent
 VOLUME 1000ml
 SIZE 12,5 x 12,5 x 21,5cm
 EAN 5205376009762



Oil lamp flower shape

CODE **045623**
 COLOR Blue
 VOLUME 500ml
 SIZE 10,8 x 10,8 x 19,7cm
 EAN 5205376045623



Oil lamp flower shape

CODE **025137**
 COLOR Honey
 VOLUME 500ml
 SIZE 10,8 x 10,8 x 19,7cm
 EAN 5205376025137



Pcs/Crt
6



Crt/Pal
144



Pcs/Pal
864



Pcs/Crt
6



Crt/Pal
81



Pcs/Pal
486



Pcs/Crt
6



Crt/Pal
90



Pcs/Pal
540



Oil Lamps Accessories

CANDIL Collection



Glass lampshade for oil lamps

CODE **027872**
 SIZE 5,3 x 5,3 x 8cm
 EAN 5205376027872

Pcs/Crt	Crt/Pal	Pcs/Pal
12	768	9216



Metal burner for oil lamps

CODE **027858**
 TYPE Wicker (spare part)
 EAN 5205376027858



Bicolor oil lamp wick 1m

CODE **011147**
 TYPE Wick (spare part)
 EAN 5205376011147

Pcs/Crt	Crt/Pal	Pcs/Pal
24	480	11520

CANDIL Collection

FIRESTARTERS

FIREPLACE & BBQ SUPPLIES

Discover fire starters that make lighting a fire easy! Choose the type that best suits your needs and enjoy safety, comfort, and efficiency every time you light a fire.



Candil liquid firelighter 500ml

CODE **029319**
EAN 5205376029319

Pcs/Crt	Crt/Pal	Pcs/Pal
12	144	1728



Candil liquid firelighter 1000ml

CODE **025342**
EAN 5205376025342

Pcs/Crt	Crt/Pal	Pcs/Pal
12	70	840



Firelighter cubes (48pcs)

CODE **X-0006**
EAN 4260399981809

Pcs/Crt	Crt/Pal	Pcs/Pal
32	105	3360



Oil stove firelighter (100pcs)

CODE **X-0003**
EAN 4260399981700

Pcs/Crt	Crt/Pal	Pcs/Pal
24	165	3960



Soot remover for oil, coal or wood stoves & fireplaces

CODE **054861**
EAN 4260399981601

Pcs/Crt	Crt/Pal	Pcs/Pal
12	66	792

candil.gr

PREMIUM
Quality
GUARANTEE
est. 1987



CANDIL LTD

23rd km Thessaloniki-Polygyros, GR 57006 Vasilika, Thessaloniki, Greece | T (+30) 2396 022082 | E info@candil.gr

EN ISO 9001:2015